Czechoslovak Mathematical Journal

Ján Jakubík

Weak isomorphisms of abelian lattice ordered groups

Czechoslovak Mathematical Journal, Vol. 30 (1980), No. 3, 438-444

Persistent URL: http://dml.cz/dmlcz/101693

Terms of use:

© Institute of Mathematics AS CR, 1980

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-GZ: The Czech Digital Mathematics Library* http://dml.cz

WEAK ISOMORPHISMS OF ABELIAN LATTICE ORDERED GROUPS

Ján Jakubík, Košice

(Received September 26, 1978)

The notions of weak homomorphism and weak isomorphism of general algebras have been introduced by Goetz and Marczewski (cf. [3], [7], [8]). The concept of weak isomorphism of general algebras has been contained implicitly in Marcev's papers [5], [6]; CSÁKÁNY [1] denotes this concept as equivalence of algebras.

Several authors investigated weak homomorphisms and weak isomorphisms of concrete types of algebraic structures (for references, cf. e.g., GŁAZEK and MI-CHALSKI [2]).

In this note it will be shown that if φ is a weak isomorphism of an abelian lattice ordered group \mathfrak{G} onto a lattice ordered group \mathfrak{G}_1 , then 1) φ is an isomorphism with respect to the group operation, and 2) φ is either an isomorphism or a dual isomorphism with respect to the partial order.

We recall some relevant basic notions concerning weak isomorphisms.

Let $\mathfrak{A} = (A; F)$ be a general algebra with the underlying set A and with the system F of fundamental operations. Let i, n be positive integers, $i \leq n$. We define an n-ary operation a_i^n on the set A by putting $a_i^n(x_1, ..., x_n) = x_i$ for each n-tuple $x_1, ..., x_n$ of elements of A. We denote by $\mathscr{P}(\mathfrak{A})$ the least set of operations on the set A such that:

- (i) $F \subseteq \mathcal{P}(\mathfrak{A})$ and $a_i^n \in \mathcal{P}(\mathfrak{A})$ for any positive integers i, n with $i \leq n$;
- (ii) $\mathcal{P}(\mathfrak{A})$ is closed with respect to superpositions.

The system $\mathscr{P}(\mathfrak{A})$ will be called the system of all polynomials of the algebra \mathfrak{A} . Let $\mathfrak{A} = (A, F)$ and $\mathfrak{A}_1 = (A_1, F_1)$ be general algebras and let φ be a one-to-one mapping of A onto A_1 . For each n-ary operation $f \in F$ and n-tuple $y_1, \ldots, y_n \in A_1$ we define

$$f^*(y_1, ..., y_n) = \varphi(f(\varphi^{-1}(y_1), ..., \varphi^{-1}(y_n))).$$

Similarly, for each n-ary operation $f_1 \in F_1$ and each n-tuple $x_1, ..., x_n \in A$ we put

$$f^*(x_1,...,x_n) = \varphi^{-1}(f_1(\varphi(x_1),...,\varphi(x_n))).$$

The mapping φ is called a weak isomorphism of $\mathfrak A$ onto $\mathfrak A_1$, if $f^* \in \mathscr P(\mathfrak A_1)$ and $f_1^* \in \mathscr P(\mathfrak A)$ for each $f \in F$ and each $f_1 \in F_1$.

Without loss of generality we can assume that $A \cap A_1 = \emptyset$. In this case we can identify the elements x and $\varphi(x)$ for each $x \in A$. Thus we can suppose that the algebras $\mathfrak A$ and $\mathfrak A_1$ have the same underlying set and that the identity mapping is a weak isomorphism of the algebra $\mathfrak A$ onto $\mathfrak A_1$. Hence $f = f^* \in \mathscr P(\mathfrak A_1)$ and $f_1 = f_1^* \in \mathscr P(\mathfrak A)$ for each $f \in F$ and each $f_1 \in F_1$.

Now let us investigate the case when $\mathfrak{A} = \mathfrak{G} = (G; +, -, \wedge, \vee)$ and $\mathfrak{A}_1 = \mathfrak{G}_1 = (G; +_1, -_1, \wedge_1, \vee_1)$ are lattice ordered groups. The positive cone and the negative cone of \mathfrak{G} will be denoted by G^+ and G^- , respectively. The symbols G_1^+ and G_1^- have the analogous meaning with respect to \mathfrak{G}_1 . The relation of the partial order in \mathfrak{G} or in \mathfrak{G}_1 will be denoted by \subseteq and \subseteq 1, respectively. If $a \in G$, $a_1 = a_2 = \ldots = a_n = a$, then we denote $a_1 + a_2 + \ldots + a_n = na$, $a_1 +_1 \ldots +_1 a_n = na$, $a_1 +_1 \ldots +_1 a_n = na$. The following result has been established in [4]:

(*) Suppose that (i) \land , $\lor \in \mathcal{P}(\mathfrak{G}_1)$, \land , \lor , \lor , \lor , $\in \mathcal{P}(\mathfrak{G})$, and (ii) the neutral element of \mathfrak{G} coincides with the neutral element of \mathfrak{G}_1 . Then we have either

(1)
$$G^+ = G_1^+ \text{ and } G^- = G_1^-,$$

or

(2)
$$G^+ = G_1^- \text{ and } G^- = G_1^+$$
.

In what follows we assume that the identity is a weak isomorphism of \mathfrak{G} onto \mathfrak{G}_1 . Further we suppose that \mathfrak{G} is abelian. The case card G=1 being trivial we assume that card G>1. From the basic algebraic rules valid for lattice ordered groups it follows that each binary operation belonging to $\mathscr{P}(\mathfrak{G})$ with variables x_1, x_2 can be expressed in the form

(3)
$$\bigwedge_{i \in I} \bigvee_{j \in J} \left(m_{ij} x_1 + n_{ij} x_2 \right),$$

where I, J are nonempty finite sets and n_{ij} , m_{ij} are integers for each $i \in I$, $j \in J$.

Lemma 1. The neutral element of \mathfrak{G} coincides with the neutral element of \mathfrak{G}_1 .

Proof. Let 0 be the neutral element of \mathfrak{G} . Then $0 +_1 0$ can be expressed in the form (3) with $x_1 = x_2 = 0$. Hence $0 +_1 0 = 0$ and thus 0 is the neutral element in \mathfrak{G}_1 as well.

From (*) and from Lemma 1 we obtain:

Corollary 1. Either the relations (1) or the relations (2) are fulfilled.

The following two assertions are immediate consequences of the fact that the identity mapping is a weak isomorphism of \mathfrak{G} onto \mathfrak{G}_1 .

Lemma 2. Let $A \subseteq G$. If A is closed with respect to all fundamental operations of \mathfrak{G} , then A is closed with respect to all fundamental operations of \mathfrak{G}_1 , and conversely.

Lemma 3. Let R be a congruence relation of \mathfrak{G} . Then R is a congruence relation of \mathfrak{G}_1 , and conversely.

From Lemmas 1 and 3 we obtain:

Corollary 2. Let $A \subseteq G$. If A is an l-ideal of \mathfrak{G} , then A is an l-ideal of \mathfrak{G}_1 , and conversely.

We denote by N, N^+ and N_0 the set of all positive integers, the set of all non-negative integers and the set of all integers, respectively.

Lemma 4. Let $0 < t \in G$. Then $nt = n \circ t$ is valid for each positive integer n.

Proof. Suppose that the condition (1) is valid (in the case when (2) holds we can use the dual argument). Denote $A = \{nt\}_{n \in \mathbb{N}_0}$. Then A is the least *l*-subgroup of \mathfrak{G} containing the element t. Hence according to Lemma 2, A is also the least *l*-sugroup of \mathfrak{G}_1 containing the element t, thus $A = \{n \circ t\}_{n \in \mathbb{N}_0}$. This together with (1) implies

$$\{nt\}_{n\in\mathbb{N}}=\{n\circ t\}_{n\in\mathbb{N}}.$$

Suppose that $x_1 + x_2$ is expressed by (3) for each $x_1, x_2 \in G$. Consider the system S of all planes $z = m_{ij}x + n_{ij}y$ in the three-dimensional euclidean space with coordinates x, y, z. Let P be the set of all points P(x, y, z) with x > 0, y > 0, having the property that P(x, y, z) belongs to the intersection of two distinct planes of the system S. Then either $P = \emptyset$ or there exists $P_0(x_0, y_0, z_0) \in P$ such that $y_0x_0^{-1} \leq yx^{-1}$ for each $P(x, y, z) \in P$. In the first case we put $M = N^+ \times N^+$; in the second we denote $M = \{(m, n) \in N \times N^+ : nm^{-1} \leq y_0x_0^{-1}\} \cup \{(0, 0)\}$.

From the definition of the set M it follows that there exists a plane $z = m_{i_0 j_0} x + n_{i_0 j_0} y \in S$ having the property

(5)
$$mt +_1 nt = m_{i_0 j_0}(mt) + n_{i_0 j_0}(nt) = (m_{i_0 j_0} m + n_{i_0 j_0} n) t$$

for each $(m, n) \in M$.

Let $m \in \mathbb{N}$, n = 0. According to Lemma 1 we have mt + 0 t = mt, and hence (5) yields

$$m_{i_0i_0}=1.$$

There exists $m \in N$ with $(m, 1) \in M$; let m_0 be the least positive integer with this property. If $m > m_0$, then (m, 1) also belongs to M.

Clearly $n_{i_0j_0} \neq 0$. Assume that $n_{i_0j_0} < 0$. Then $0 < m_0t + t = (m_0 + n_{i_0j_0})t$, hence $m_0 > -n_{i_0j_0}$. For each $i \in N$ with $i \leq m_0$ we have (cf. (4))

$$it + _{1}t = k_{i}t, k_{i} > 0;$$

put $k = \max_0 k_i$ $(i = 1, 2, ..., m_0 - 1)$. We can easily verify that all elements $m_0 t +_1 n \circ t$ (n = 1, 2, 3, ...) belong to the set $\{t, 2t, ..., kt\}$. On the other hand, the set $\{m_0 t +_1 n \circ t\}_{n \in \mathbb{N}}$ is infinite and so we arrived at a contradiction. Hence $n_{i_0 j_0} > 0$.

Assume that $n_{i_0j_0} > 1$. Let $m \ge m_0$. By calculating $mt +_1 t$, $(mt +_1 t) +_1 t$, ... we obtain that

$$mt +_1 n \circ t = (m + n_{i_0j_0}n) t$$

for each $n \in N$. From this and from $n_{i_0 j_0} > 1$ it follows that the set

$$\{nt\}_{n\in\mathbb{N}}\setminus\{mt+_1n\circ t\}_{n\in\mathbb{N}}=B$$

is infinite. Now (4) implies

$$B = \{n \circ t\}_{n \in \mathbb{N}} \setminus \{mt +_1 n \circ t\}_{n \in \mathbb{N}}$$

and this set has only a finite number of elements, which is a contradiction. Therefore $n_{i_0j_0} = 1$. In view of (5) and (6) we obtain

$$(7) mt + _1 nt = (m+n) t$$

for each $(m, n) \in M$.

Let m_0 be as above. According to (4) there exists $m_0' \in N$ with $m_0t = m_0' \circ t$. Thus (7) implies

$$(m'_0 + 1) \circ t = m'_0 \circ t + t = (m_0 + 1) t$$

and by induction we obtain

(8)
$$(m'_0 + n) \circ t = (m_0 + n) t$$

for each $n \in N$.

Let a positive integer p > 1 be given. For each $i \in \{0, 1, 2, ..., p - 1\}$ we denote $A_i = \{(m_0 + i + np) t\}_{n \in \mathbb{N}^+}$. Further, for each $x \in G$ we denote by A(x) the *l*-subgroup of \mathfrak{G} generated by the element x. Then x = pt satisfies the following condition:

(α) There exists $i \in \{0, 1, 2, ..., p-1\}$ such that $A_i \subseteq A(x)$ and $A_j \cap A(x) = \emptyset$ for each $j \in \{0, 1, 2, ..., p-1\}$ with $j \neq i$.

According to Lemma 2, A(x) is also the *l*-subgroup of \mathfrak{G}_1 generated by x. Put $A'_i = \{(m'_0 + i + np) \circ t\}_{n \in \mathbb{N}^+}$. From (8) it follows that $A_i = A'_i$ for each $i \in \{0, 1, 2, ..., p-1\}$. Thus from (α) we infer that the following condition is fulfilled:

 (α_1) There exists $i \in \{0, 1, 2, ..., p-1\}$ such that $A'_i \subseteq A(x)$ and $A'_j \cap A(x) = \emptyset$ for each $j \in \{0, 1, 2, ..., p-1\}$ with $j \neq i$.

Moreover, from (4) we get that there is $p' \in N$ with $x = p' \circ t$. From the definition of A'_i we obtain that the following assertion is valid:

(β) Let q be a positive integer. Suppose that there exists $i \in \{0, 1, 2, ..., p-1\}$ such that $A_i \subseteq A(q \circ t)$ and $A_j \cap A(q \circ t) = \emptyset$ for each $j \in \{0, 1, 2, ..., p-1\}$, $j \neq i$. Then q = p.

(In fact, from $A_i \subseteq A(q \circ t)$ it follows that there is a positive integer m with p = mq; from $A_i \cap A(q \circ t) = \emptyset$ we get m = 1.)

From (α_1) and (β) we conclude p' = p. Hence $pt = p \circ t$ is valid for each positive integer p.

Lemma 4'. Let $0 < t \in G$. Then $nt = n \circ t$ is valid for each integer n.

Proof. In view of Lemma 4 it suffices to verify that -t = -t. Further, we can suppose that (1) holds (in the case (2) the proof would be analogous). The set M = -t

 $= \{nt\}_{n \in N_0}$ is the *l*-subgroup of *G* generated by *t*. Hence this set is also the *l*-subgroup of G_1 generated by *t*. From (1) it follows that $t >_1 0$, whence $-_1 t <_1 0$, thus there exists a positive integer *m* such that $-_1 t = -mt$. The *l*-subgroup of G_1 generated by $-_1 t$ coincides with *M*. Hence the *l*-subgroup of *G* generated by -mt coincides with *M*. Thus m = 1.

Corollary. Let $t \in G$ be such that either $t \ge 0$ or $t \le 0$. Then $nt = n \circ t$ is valid for each $n \in N_0$.

For each $x \in G$ we denote, as usual, $|x| = (x \vee 0) - (x \wedge 0)$. We have $x = (x \vee 0) + (x \wedge 0)$. If m_1, m'_1, m_2, m'_2 are integers and $k_1 = \max\{m_1, m_2\}$, $k_2 = \min(m_1, m_2)$, $l_1 = \max(m'_1, m'_2)$, $l_2 = \min(m'_1, m'_2)$, then

$$(\gamma_1) (m_1(x \vee 0) + m'_1(x \wedge 0)) \vee (m_2(x \vee 0) + m'_2(x \wedge 0)) = k_1(x \vee 0) + l_2(x \wedge 0),$$

$$(\gamma_2) (m_1(x \vee 0) + m_1'(x \wedge 0)) \wedge (m_2(x \vee 0) + m_2'(x \wedge 0)) = k_2(x \vee 0) + l_1(x \wedge 0).$$

(This is an easy consequence of the fact that $x \vee 0$ and $x \wedge 0$ are disjoint, i.e., $(x \vee 0) \wedge (-(x \wedge 0)) = 0$.)

In the following lemma we assume that for all $x_1, x_2 \in G$, $x_1 + x_2$ is given by the expression (3).

Lemma 5. Let r be a positive integer such that $r > 2|n_{ij}|$ is valid for each $i \in I$ and each $j \in J$. Let $x, y \in G$, $x \ge r|y|$. Then x + 1, y = x + y.

Proof. We have

$$x +_1 y = \bigwedge_{i \in I} \bigvee_{i \in J} (m_{ij}x + n_{ij}y).$$

Denote $m_{ij}x + n_{ij}y = t_{ij}$. Let $i, i_1 \in I, j, j_1 \in J$.

First, suppose that $m_{ij} \neq m_{i_1j_1}$. We shall verify that in this case the elements t_{ij} and $t_{i_1j_1}$ are comparable in \mathfrak{G} . In fact, let $m_{ij} > m_{i_1j_1}$. Then

$$(m_{ij} - m_{i_1j_1}) x \ge x \ge r|y|,$$

$$(n_{i_1j_1} - n_{ij}) y \le |(n_{i_1j_1} - n_{ij}) y| =$$

$$= |n_{i_1}j_1 - n_{ij}| |y| \le (|n_{i_1j_1}| + |n_{ij}|) |y| < r|y|,$$

whence $t_{ij} > t_{i_1j_1}$.

In the case $m_{ij} = m_{i_1j_1}$ we have according to (γ_1)

$$t_{ij} \vee t_{i_1j_1} = (m_{ij}x + n_{ij}y) \vee (m_{ij}x + n_{i_1j_1}y) =$$

= $m_{ij}x + (n_{ij}y \vee n_{i_1j_1}y) = m_{ij}x + k(y \vee 0) + l(y \wedge 0),$

where $k, l \in \{n_{ij}\}_{i \in I, j \in J}$. From this and from (γ_1) , (γ_2) we infer that there are integers m, k, l with $m \in \{m_{ij}\}_{i \in I, j \in J}$, $k, l \in \{n_{ij}\}_{i \in I, j \in J}$ such that

$$x +_1 y = mx + k(y \vee 0) + l(y \wedge 0)$$

is valid whenever $x \ge ry$.

If we put y = 0, x > 0, then we obtain m = 1. Thus

$$x \ge r|y| \Rightarrow x +_1 y = x + k(y \vee 0) + l(y \wedge 0).$$

Choose y > 0, $x \le ry$. Then in view of Lemma 4,

$$(r+1) y = (r+1) \circ y = ry + y = ry + ky$$
,

whence k = 1. Further choose y < 0, x = -ry. According to Corollary of Lemma 4' we obtain

$$(-r+1) y = (-r+1) \circ y = -ry +_1 y = -ry + ly = (-r+l) y$$
, thus $l = 1$, completing the proof.

Lemma 6. Let $y_1, y_2 \in G$. Then $y_1 + y_2 = y_1 + y_2$.

Proof. Let r be as in Lemma 5. There exists $x \in G$ such that the relations

$$x \ge r|y_1 + y_2|, \quad x \ge r|y_1|, \quad x + y_1 \ge r|y_1|$$

are valid. This and Lemma 5 yields

$$x + _1(y_1 + y_2) = x + (y_1 + y_2),$$

 $(x + y_1) + _1y_2 = (x + y_1) + y_2,$
 $x + y_1 = x + _1y_1,$

whence $y_1 + y_2 = y_1 + y_2$.

Lemma 7. Suppose that (1) is valid. Let $y_1, y_2 \in G$. Then $y_1 \leq y_2$ if and only if $y_1 \leq y_2$.

Proof. From $y_1 \le y_2$ it follows that there exists $z \in G^+$ with $y_1 + z = y_2$. According to Lemma 6 we have $y_1 +_1 z = y_2$, whence $y_1 \le_1 y_2$. Similarly, from $y_1 \le_1 y_2$ we infer that $y_1 \le y_2$.

Now suppose that (2) is valid. Let \leq be the partial order on G that is dual to \leq_1 . By applying Lemma 7 to the lattice ordered groups G and $G'_1 = (G; +_1, -_1, \leq)$ we obtain:

Lemma 7'. Suppose that (2) is valid. Let $y_1, y_2 \in G$. Then $y_1 \leq y_2$ if and only if $y_1 \geq_1 y_2$.

Lemmas 6, 7 and 7' imply:

Theorem. Let $\mathfrak{G} = (G; +, -, \wedge, \vee)$ and $\mathfrak{G}_1 = (G; +_1, -_1, \wedge_1, \vee_1)$ be lattice ordered groups. Let \leq and \leq_1 be the corresponding partial orders of \mathfrak{G} and \mathfrak{G}_1 , respectively. Suppose that \mathfrak{G} is abelian and that the identity mappings is a weak isomorphism of \mathfrak{G} onto \mathfrak{G}_1 . Then (i) the operations + and $+_1$ on G coincide, and (ii) either \leq coincides with \leq_1 , or \leq is dual to \leq_1 .

Corollary 2. Let $\mathfrak{G} = (G; +, -, \wedge, \vee)$ and $\mathfrak{G}_1 = (G_1; +_1, -_1, \wedge_1, \vee_1)$ be lattice ordered groups. Assume that \mathfrak{G} is abelian. Let φ be a weak isomorphism of \mathfrak{G} onto \mathfrak{G}_1 . Then (i) φ is an isomorphism of the group (G; +) onto the group $(G_1; +_1)$, and (ii) φ is either an isomorphism or a dual isomorphism of the lattice $(G; \wedge, \vee)$ onto the lattice $(G_1; \wedge_1, \vee_1)$.

Remark. It can be shown that the assertion of Lemma 4 remains valid without assuming the commutativity of the operation +. The question of the validity of Corollary 2 for a non-abelian lattice ordered group \mathfrak{G} is open.

Let $\mathfrak{G} = (G; +, -, \wedge, \vee)$ and $\mathfrak{G}_1 = (G; +_1, -_1, \wedge_1, \vee_1)$ be lattice ordered groups with the same underlying set. Assume that \mathfrak{G}_1 is abelian. Let f be an (n + m)-ary polynomial belonging to $\mathscr{P}(\mathfrak{G}_1)$, $n \geq 1$. Suppose that f can be expressed by using merely the operations $+_1$ and $-_1$ (i.e., without using the operations \wedge_1, \vee_1). Let a_1, \ldots, a_m be fixed elements of G. Consider the n-ary operation

$$g(x_1, ..., x_n) = f(x_1, ..., x_n, a_1, ..., a_m)$$

on G and let investigate the problem whether g can belong to $\mathcal{P}(\mathfrak{G})$.

Since \mathfrak{G}_1 is abelian, there exists a fixed element $b \in G$ and an *n*-ary operation $f_1 \in \mathscr{P}(\mathfrak{G}_1)$ such that

(9)
$$g(x_1, ..., x_n) = f_1(x_1, ..., x_n) + b;$$

the polynomial f_1 does not contain the lattice operation \wedge_1 and \vee_1 .

Proposition. Let $\mathfrak{G}, \mathfrak{G}_1, f, b$ be as above. Suppose that the zero element of \mathfrak{G} coincides with the zero element of \mathfrak{G}_1 (this element will be denoted by 0). If $g \in \mathcal{P}(\mathfrak{G})$, then b = 0 (i.e., f does not depend on a_1, \ldots, a_n).

Proof. Assume that $g \in \mathcal{P}(\mathfrak{G})$. Denote h(x) = g(x, ..., x). Then $h \in \mathcal{P}(\mathfrak{G})$. Hence h(x) can be expressed in the form

(3')
$$h(x) = \bigwedge_{i \in I} \bigvee_{j \in J} m_{ij} x,$$

where I, J are finite sets and m_{ij} are integers. Thus h(0) = 0. From (9) we obtain $h(0) = f_1(0, ..., 0) + f_1(0) + f_2(0) + f_3(0) +$

Question. Does the above proposition remain valid without assuming that \mathfrak{G}_1 is abelian or without assuming that the zero element of \mathfrak{G} coincides with the zero element of \mathfrak{G}_1 ?

References

- Б. Чакань: Об еквивалентности некоторых классов алгебраических систем, Acta Sci. Math. 23 (1962), 46-57.
- [2] K. Glazek and J. Michalski: Weak homomorphisms of general algebras, Annales Soc. Math. Polon., Sér. I. Comment. Math. 19 (1977), 211-228.
- [3] A. Goetz: On weak automorphisms and weak homomorphisms of abstract algebras, Coll. Math. 14 (1966), 163-167.
- [4] J. Jakubík: On algebraic operation of a lattice ordered group, Coll. Math. 61 (1979), 35-44.
- [5] А. И. Мальцев: Свободные топологические алгебры, Изв. Акад. наук, серия матем. 21 (1957), 171—198.
- [6] А. И. Мальцев: Структурная характеристика некоторых классов алгебр, Докл. Акад. наук СССР 120 (1958), 29—33.
- [7] E. Marczewski: Independence and homomorphisms in abstract algebras, Fundam. Math. 50 (1961), 45-61.
- [8] E. Marczewski: Independence in abstract algebras. Results and problems, Coll. Math. 14 (1966), 169—188.

Author's address: 040 01 Košice, Švermova 5, ČSSR (Vysoká škola technická).